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Determine the reactions ond member end forces for the frome

shown by using the motrix stiffness method.

20 kN/m

| R T N -
2m ’ ’
4m 50 kN —»{| [1]
o 1 E =200 GPa
7777 I = 400x10% mm*
| | A = 7500 mm?
5m
0
o e D5 =
Aé%;zﬁm 8= -1 &
" GFe- Qfs=0
0N — ] QA - Qfs = 50 _ y500m
2
m L‘
eh— 25K
@
0
0 0)
Ao o-b o o Tam 0
"\I:EI?J 0 R G O -7 6L 0 [000
L 0 WLoAr 0 W=l 0 00
Moy o0 Koo o) lma o
o - 4L 0 1 —bLz 0 -500
L oo e 20 0 -L 1] | 0 %000
0s6=0
sing=1 (vevtical member) T
= O “I
i ) T
T_[0o 10000 |0
4 00 0 0 0 0 ©
0 0 | 00 0 o O
o o0 O | 8 0 0
O 0 O - O 0
(0 000 0 1] | 0

]
E=20060 (0002 = 200x0” Ko
o et (LN < 0.0004 !
T= 4o i (m) 0000 m

. \ _ e
A ?EOO(Wﬂ 0.0015m
Ly = tim
L2 =5m
_[225 76
Jrfm: % 8
2
=5 | |
0 |2
L-2H 49
0 1 7z 3
0 W00 0 0
30060 0 -[5060 0000
0o 0 -Mo) 40000
0 00 0 0
-30000 0 G000 <ap000
10000 0 MmO P00 |
o oo O |
O 0 0 O
I 0 0 O
o O0- O
o | 0 O
0O 0o O |

o — © o O




ﬁ spinosaz/ J&nc@de, .

o0 -1 0 0o 0o O ) pu b -
, o O 0 - 0 0
0 0000 0 Hopo oo 0 -0 9000 o gL
Tr-|0 0 1 000 = oG
Kl'- T kT = o 0 omo  Bo00 0 =200 4oo00
00 0 10 0| | 0 .z?m 20030 e 8 0 8 oG 2 2
- - 0 000 -7 -
0 o 0 o O ¥‘ 0 000 o600 0 -ImmD %gggg_ 0 g ?) (}) g
0 0 0 l 2 G,
Tisooo O -%0000 -Fooy 0 ~%0000 [ O
0 FH000 0 Q -HI00 0 o]
— |-omo 0 Boop 0 O joooo | O
soo O oo [isooo 0 oo ||
0 -FH00 0 o RO 0 2
| ~H0000 0 Yoooo | %0000 0 20000 b
J 20kN/m
1 I 7 .
i ) Tl?‘ =0
' @FVC -:%} ‘:‘% O “-'i
o B, - 50 |2
U= 201 -1 “ha |
0
) 70
Q= 0 0.6t o
@ng = H0
Qfy - ~Ofy--Hl6t
Dk , L T | 2 ) 0 0 0 )
ez €L T 0 -8— 0 0 Do 0 o | -moo00 0 o |
@f—=—1 0 R G 0 R 6L 0 X0 R 0 B0 AU
1 i ELZ 6L 4L Oa “L W= 0 900  GHOOD 0 -0 20
0 0 A_£ 0 0 ~00000 0 0 300 000 0 0
o R L 0 [ bl 0 0 400 0 ¥0  —100
L o 6 0 0 -eL M| L O 100 720600 0 00 @100
=0 ]
Jowmt  Lood Vedov :
? _To711 e
‘M; g - (5000 +300000 0+0 20000 +0 25000 0 20000 ||
ﬁ;-;eafm Torte Vedor 0+0 9000 1680 O+aeo =1 0 W o |2
S 20000 +0 0+19200 B0000 HAO00 _7;'0000 (9200 44000 | 3

Pae |25 40 -5
o0 |7 ®
=56 o+

o O 9O & o~




ﬁ spinosaz/ J&nc@de, .

P-Pf = Sd

5 - G000 0 30000 |[4,
[SJ—[SD } 0 02w 19200 ||de
lo-6F ] | 20000 9200 44000 | | d»

di= 0.0000906 mm

dz2 = =0.00025mm

dy= -0.00011% vad ,
g [ 0.0000906
0 -0.000125
U, = 0.0000906 Ue = ‘0\830“%
-0.000125 0
L -0.00011% _| 0
Q = Kut OF
TIHwo O <0000 @y 0 0000 - i
e i % _25 22,42
le om0 Bowo oo O 40000 0 0 i Yo.3%
“Goo 0 Moo 15000 O 000 || 0000090 | T ?:‘25 _Z?J
0 -Fao O 0 IO 0 0,005 0 _Zj(;l?%
oo 0 too oo 0 80D Jooole | [ 9n | [ -4, 32 ]
500 000 0 0 - 100000 0 0 T o o )
0 ¥ R0 0 0 [0 || 0.0000900 0 219
Q@ - 0 9200 61000 0 -|9200 2000 ‘_O-OODIZ'ﬁ 60 %ﬁ%
0000 0 0 300 000 0 0 Yiele TN = 9%
0 e 1MW % 0 1400 % 500 ’%;?Zlg
0 00 32600 %100 0o |- e _—LP}‘%L!__




ﬁ spinosa\z/ Janclyde C.

433N
3172 o AL @iz gikm
@lg—aisk  Hi—p @ CA— 2718 KN
Lm
0N — K 38kN 520K\
m
29kN'm %E@? 22.92k\
§o 38 KN
) 20ki/m 48.%1\1'm
ADIN
- %2} Ok
2m
N —— 5%.22kN
m
A

Zﬁm‘m@r 22.8LKN

Ag =430 kN




	1
	2
	3
	4

